
GLIMAKRA OF SWEDEN AB | Box 125 | SE-289 04 Glimåkra | Försäljning +46 44 454 10 | Sales +46 44 454 20

info@glimakra.com | www.glimakra.com | Org.no 556120-7837 | VAT.no SE556120783701

GLIMAKRA

OFSWEDEN

S E E N

M O N T E R I N G S A N V I S N I N G  /  A S S E M B L Y  I N S T R U C T I O N S  2 0 1 9  1 0  0 9

L i m b u s D e s k u p  C o n c e p t



GLIMAKRA OF SWEDEN AB | Box 125 | SE-289 04 Glimåkra | Försäljning +46 44 454 10 | Sales +46 44 454 20

info@glimakra.com | www.glimakra.com | Org.no 556120-7837 | VAT.no SE556120783701

GLIMAKRA

OFSWEDEN

S E E N

S E

S E

E N

E N

M O N T E R I N G S A N V I S N I N G  /  A S S E M B L Y  I N S T R U C T I O N S  2 0 1 9  1 0  0 9

L i m b u s D e s k u p  C o n c e p t

Mount on fitting angles with M6x30 screw.

T H I S  P A C K A G E  C O N T A I N S :
1. 1 screen front and possibly 1-2 side screens
2. 1 pc of distance tool
3. M6x30 screws (depends on the number of sceens)
4. Wood screws 4.5x20 (depends on the number of sceens)
5. Fitting angles or fitting 30 (depends on the number of 

sceens and size)
6. Coupling hooks (depends on the number of sceens)

Vi rekommenderar att du följer våra monteringsanvisningar för att säkerställa att din möbel från Glimakra of Sweden varar 

i många år. / We recommend to follow our assembly instructions to ensure that your Glimakra of Sweden furniture lasts for 

many years.

Montera på vinklar med M6x30 skruv.

D E T  H Ä R  P A K E T E T  I N N E H Å L L E R :
1. 1 st skärm front och ev 1-2 sidoskärmar
2. 1 st distansbricka
3. M6x30 skruvar (beror på antal skärmar)
4. Träskruv 4.5x20 (beror på antal skärmar)
5. Vinklar eller fästvinklar 30 (beror på antal skärmar) 
6. Hakskurvar (beror på antal skärmar)

1



GLIMAKRA OF SWEDEN AB | Box 125 | SE-289 04 Glimåkra | Försäljning +46 44 454 10 | Sales +46 44 454 20

info@glimakra.com | www.glimakra.com | Org.no 556120-7837 | VAT.no SE556120783701

GLIMAKRA

OFSWEDEN

S E E N

S E

S E

E N

E N

M O N T E R I N G S A N V I S N I N G  /  A S S E M B L Y  I N S T R U C T I O N S  2 0 1 9  1 0  0 9

L i m b u s D e s k u p  C o n c e p t

Mount on fitting angles with M6x30 screw.
Screw down the concept coupling hook M6x20 to the 
thickness of the included distance tool, using both upper 
holes.

Screw the front panel onto the table top with 4.5x20 wood 
screw.

Montera på vinklar med M6x30 skruv.
Skruva ner conceptkopplingens hakskruv M6x20 till den 
medskickade distansbrickans tjocklek, använd de bägge övre 
hålen.

Skruva fast frontskärmen på bordsskivan med träskruv 4.5x20.

2

3



GLIMAKRA OF SWEDEN AB | Box 125 | SE-289 04 Glimåkra | Försäljning +46 44 454 10 | Sales +46 44 454 20

info@glimakra.com | www.glimakra.com | Org.no 556120-7837 | VAT.no SE556120783701

GLIMAKRA

OFSWEDEN

S E E N

S E

S E

E N

E N

M O N T E R I N G S A N V I S N I N G  /  A S S E M B L Y  I N S T R U C T I O N S  2 0 1 9  1 0  0 9

L i m b u s D e s k u p  C o n c e p t

Hook on the gable screen from below, push up the screen, 
if necessary adjust the hook screw for looser or harder 
connection.

Screw the gable screen with wood screw 4.5x20.

Haka på gavelskärmen underifrån, tryck upp skärmen, 
vid behov justera hakskruven för lösare eller hårdare 
sammankoppling.

Skruva fast gavelskärmen med träskruv 4.5x20.

4

5


